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Fourier 000 Fourier 0O OO ODODO0ODOOOOODOODOODODOODO
gobgoboooboobuooboobobbobbooboobooong
0000000000000 0000000D00D0000 Weyl-Stone—-
Titchmarsh-Kodaira 00D OO0O0OOODOOODOOOODOOOODOO
gbooobobooooboboboo20b0000b0b0b00ob0oooog
gboboguobobbobbobobobbobbobboboooad
gobooobogooooobobiliobobooboooboobooonooo
goboboboooobobooooboboooooobooooobobooooooom
gbobooobooobobooooboobobooobooooon
gobooobooooooobobooobooobobooooonbog

1. O
0o ](CR)DDDD 20000000
(L.1) £ = a@) L 0@ L (a@) > 0)
. —a:l?dxz xdl‘ a\x

0000000000 a(x)D00000K2x)0000000000000O00O0O0
00 c(x)0 d(x) =b(x)/a(z)D0000000O0OODOOO

L= a(:c)% (c(:c)%)

000000000000 dn(x) = (1/a(z))dz, ds(z) = (1/c(z))de 000 O
d d
- dm(zx) ds(z)

00000'00000000 (1.1)00000000000000 (1.2)00
00000 (1.2)0 Kolmogorov 0O OO ODODODODODODOOOOOOOOOOO
0000000000 MarkovOOOOOOOOODODOOOOOO(1.2)000
Feller 00000000000 s(x) 0000000000000 OOODOOO
O000Om(zx)D000000000O00O0OODOOLebesgue-Stieljes 0 0O dm(x) O
000000000000 00000000 s(z)0dn(z) 000000000

Yds(z),dm(z))0 £O0ODO0O0000O00O000O00O00O00O0O0O
1
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gbogbooboobooboobuoobbobboobuogboogoboagn
0000000000000 00O0o0ooooooooooooogd m(x),s(x)
0000000000000 000000D0O00O0Om(z)00000O000O0O0OO
00000 Lebesgue-Stieltjes 00 dm(z) 000000 OODOOOOOOOO
0000000000000 0000000Om(z)0D00000O0O0O0O £0O0O
ggbbooood

[0]00000000000000 m(z) 0000000000 s(z)
Jo00oo00oobooobooonboobobooobooooboon
gobodbooooboobooooboobooo
000000 s(x) 0000000000000 0O00O0O0O0ODODOOO0OOO0
d d+
0. 740000 450000
d+ _
o) — 1 L@ = J(0)
ds(x) clo s(x +e€) —s(x)
O0000O00s(x)D00000O0O0O0ODOO

dr dt

ds(x)  §'(x)dx

goodoobbbobobobbbbversion000odoooooooooDoOon
000000000000 s(x) 0000000000000 0ODODOOOOOO0
00 ds(z) O Lebesgue-Stieljes 0 00 0O

df(i) = g(z)

oo
z) = f(a) + ds
f(x) = f(a) /(avz]g(y) (y)

ggbbbuooobbooodobobbooodgbobooan
goboog

e
dm(x) ° ds(x)

oooooooouo £=D,Df0000

Dy,

0000000000000 k(z)>00000000000000

d dt
L= dn(a) ds(@) k(x)

0000000000000000000000k(x)0 killingO 000000
0000000000000 0000000000000 k(x) 0 Feynman-Kac
0000000000000 000ooo0O k(z)=000000000000

O00k(z)>0000000000000000000O0OOOODOO
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1. =% +2200000 L (24)000000000 Feller 0000
4 (74:)00000000 s(x) = loga, m(x) = o.

0000000000000 0000OD0OO0O00mOonO

(1.4) a (m%) () — gla)ly = 0

00000000000000000000000000000000000
00000000@14)0000 r(z)000 k(z) =q(z)/r(z)0000

{r@%xcmoﬁg4wx—k@»}y=o

O00o000000dn(z) =r(z)de, ds(x) = (1/p(x))dz0000 (1.4)0 (1.3)
0000000 (L+M\Ny=000000000000000000000000O
0000000000oooooooo0o0oooooooooooOoOg (1.4)
00000 (13) 000000 0oooooooooogo

0000000000000 000000000D0000dn(x)0000O0O
00000 p(t,z,y) O0002:000000000¢t000000 X,0000
0000000 ADDDODOODOOO P(Xy,eADDODOO

Po(X, € A) = / plt, 2, y)dm(y)

ooog
Py (X € dy) = p(t,z,y)dm(y)
0000000000000000000 f(zx)0000

(1.5) EL[f(X)] = / Dt 2,y) f(y)dm(y)

I
DDDDDDDp(t,JE,y)D deO00QO00d dm(:ﬂ)DDDDDDDDDDDDDDD
000000000 2,y0000000p(t2,y) =pty,2)00000

00000000000000 p(t,z,y)0000000000000000
000000000 pte,y)00000000000000000000000
00000000000000MO0000000000000000000
000000000000000000000000000000000 (1.5)
0000 o(t,z) 0000000 o(t,2) 0000000000000

(1.6) %U(t,x) = Lo(t, 7)

v(4+0,2) = f(x)
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0000000 (16000

(1.7) o(t, ) = / plt, 2. 9)f (y)dm(y)

000000000 p(t,z,y) DOD0O0O0O0O0O0OOOOODODOOOOODOOO
0000000000000 (1)00000DOooooooooooooooo
0000 (l.6) 0000000000000 0000O000Oo0ooooooOoo
Ub00bo0obt¢t0dbd LaplaceD 00000000 0ODOODOOOODOOOO
gogbbobuoooobbbouoooobbbooobbobooodgbod

(L7 D000 Laplace DOODOOOOOO

/ e_atgv(t,m)dt = / e " Lo(t,r)dt = E/ e u(t, x)dt
0 ot 0 0
00D0000000000000 v(+0,2) = f(z)000
—f(z) + a/ e u(t, z)dt
0
gogbobbuoodbb e>000000

u(z) = /000 e “u(t, z)dt

0000 (1.7)0

—f(z) + au(z) = Lu(z)
goood
(L8) (a = Lyu(z) = £(z)

000000000000 oo0ooooooUdp(t,z,y) DOOOODOOOOOO

olt,x) = / Dt 2,y) f(y)dm(y)
I
g0 dogoooooogg

(1.9 @) = [ Golar) fly)m(y)
00000000
(1.10) Go(z,y) = /000 e p(t,z,y) dt.

o0o0000000oO0O0oQooD fOO0DO0@8DDODOOD (19YOOOOOO
000 Gu.(x,y) DOO0O0O00O0O00O0O000O0O p(t,z,y)0 Laplace 0O (1.10)
oo0o0oDooooodpt,ze,y DOOOOODODDOO

0000000000000 (1.8) 00000000 Gu(z,y)DOODOOOODO
0000000 Gu(z,y) D0OOOODOO0O0OO0O LaplaceD OO0 OO0 p(t, x,y)

gogbbobuogoboboboooobboboood
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2.0000001/20

O00000000000000000000O (eigen-differential expansion) O
O000D000bOOoDooooon

00000000 (1.6)0ooooo

)
(2.1) ') = Lot )

v(+0,2) = f(x)
D00000000000000000000000000000+¢0:000

00000000000000000000000000u(t,2)=a(t)u(z)0
00000000000000000000 (21)0

(2.2 d(tulx) = alt)Lu(z), a(O)u(z) = f(2)
O000000000000000000000 (20010000
(2.3) a(t)  Lu(x)

a(t)  u(w)
00000000+ 00020000000000000000000000
00000000000 -A00002%2.3)0

a(t) = a(0)e™,  Lu(x) = —Mu(z)

0000000000(22)0020000000000 u(z) = cf(z) (c=1/a(0))
00000 £Lf(z) =-Af(x)0000000000000000000000
0000000000 f(z)0000 Lu(z)=-Xu(z)00000000000
00000001000

v(t,z) = e f(x)
)

0000000000 f(#) 0 Lulz) = —Xu(z)0 000000000000
000000000 f(z)0 Luj(z) = —Au;(z) 0000 {u;}, 00000

(z
(2.4) fl@) =" cju;(x)

J

0000000ooooooooooooooon (21000
(2.5) Zc] Nt (z

0000000000
000000000000000 f00000000 (240000000
000000D000000000000 L*({,dn(z))0000000 {u;}; 0

0000000000000 000000000000
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C.ONSOOO0OOOOOOOO0O0000000000000000000000
0000000000 (f,¢)0 L*(,dn) 000000000000

f(z) = Z(f? uj)u; ()

00000 (21)000
(2.6) p(t,z,y) Ze ibuy (y)u; ()

goon

v(t,x) = Z it(f, w;)u;(z Z _/\t/f y)ui(y)dm(y)u;(z)
_ / DM uleldns) = [ tta ) bt

DDDDDDD@@DDDDDDDDDDDDDDDDDDDDDDDDDD
O0Lu(z) = —Xu(z)0000 C.ONS.O0D {4,};0000000000 (2.6)
000000000000000000

0000000000000000 Lu(z)=-M(z)0000 C.ONS. OO
00000000000000000000000000000000000
0000000000000000

3. 0000000000 Lu(z)=-Xu(z)000000

ROODOOOOODODOOOODO20000000
d dr
dm(x) ds(zx)’
00000000 —co< —(_ </, <oco000Om(x)00000000O0O0O
ododoooooooooooooooooooon /- <0< /4,00 m0O

m(—0)=0000000000
AeCUODOO0DOODODO
Lu(z) = —Au(x)
Oooodl1godo200o000odonoooooogono
O0DO0000D000AeCOOO00 1000 gy(a),¢x(z) 000
pa(0) = L, DJpx(=0) =0, ¢,(0) =0,D¢,(0) =1
D0DO00000000A=00000g(z) =1,%(z) = s(z) —s(0) 0000
Dfp)(0)=00000 Dfpa(—0)=0000000dm(z) 0 mass O

00200000 Dfgy(z)0000000000000000000
000D00000000D ¢A\(0)0 Dfga(—0)000

D} or(40) — DFpa(—0) = —Am(+0)px(0)
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goboooo



0000 00+, 00000 4,(0)=000000000000000
0 DFn(+0) = D (~0) 00 0T
000 Lu=—- 02000 w,u, 0O0OO0O0OO
Wur, uz)(2) = w1 (2) (D uz)(x) — (D (2))us(2)

00000000000000000000 dWlu,u)(z)000000000
0%00u,w000000000000000000 Wu,u(z)£00000
000 ¢y, 000 Wipa,t](z) =1000010000000000000
00 py,¢,0100000000000000 w(0) =a,Dfu(—0)=5b000

u(x) = apa(x) + by(x)
00000000 {px(x),¥a(x)} 0000000000
DDDDﬁZ%DDDDD)\DDDDDDD)\>ODDD
ox(z) = cos(VIAz), ¥a(z) = (1/VA)sin(v/Az)
gboddax<0000O
oa(z) = cosh(vV=Az), ¥a(z) = (1/v/=X)sinh(vV—=\z)

gaon
0000000 {ex,,} 0000000000000 000000000O0O
ggboobobooogbboboooobod

x y
o) =1 A / ds(y) / oa (1) dm(u);
—0 0
T y
Ua(a) = s(z) — A / ds(y) / U (at) dm ().
—0 0
Ogo00ododoobodoooobooonobo oo oo ogoon
O00oo0oooooogoooogd

(3.2) mo(z) = 1,
() = / ds(y) / s () (), (n > 1)

0000D,Dim,=m, 0000000000000
(3.3) dmi(z) = m(z)ds(x)

O000000000O0O0OD0O00 m,(x) 0000000000 pr\(x)0000
goooo

o0

(3.4) pa(@) =) (=N)"ma(x) (A€C)

n=0

0000000 (3.7)000



0o0ooU00oo0ooUOooOooUooOooUooooouoog DyDEm, =my
ggbobobuoooboooobooboooobboboooon

gbooooobobobooooboobobobooboboboo
obob0de>0000 0000000000 O0O0OOOO

my(z)"
n!

ddin=0, 100000000000 n000000oobobDO
x v
Mpt1(z) = /ds(v)/ mp(u) dm(u)
0 0

1 x v nmu
< = ; ds(v)/o mi(uw)"™ dm(u)

(3.5) mp(z) < (n=0,1,2,...)

n!

_ 1 /Ox my(v)"m(v)ds(v) = 71'/093 ma(v)"dmy(v)

< = ; ds(v)/o mi(v)" dm(u)

n!

agoad
n+1
gbdboootdoooodobooouooooouoon
(3.6) [oa(@)] < exp{[Alm1(z)} (A €C)

000¢,00000000000me(z)=100000 my(z) =0
00000000m,(z)00000 mi(z)00000 mi(z) < zma(z)
ooooooo

[Ya(@)] < exp{|Alzma ()} (A €C)
oooo

(34)0000000000000000000I0000000000

ox(z),U\(z)0 z0000000AeCO00000000O0O
0000000000

OO0000000O00OO0bO0oDbOobOO0bO0ODOobODOoOOobDOobOOooDbOOoDOO
o000 f,¢g00D000O0OD0ODOO0ODODOD fgODOODODOOODOOOODO
Lebesgue-Stieljes U 0 00O O0OOOODOO

d(fg) = fdg + gdf

oobooboooooboooooof,gb00bO00bD00obDOooDOooDO
ggoobogogd

3.7 d(f(x)g(x)) = flz=)dg(x) + g(z)df (x) = [f(z)dg(z) + g(z—)df (z)

435000



00000000 00000000000000000000000000O0
0E.7)0000000000000000000000 Stieltjes0 00000
gogoooboggd

400000 (2/2)

0000000000000000000000000000000000
000000000000000000010002000000000000
00000000 (1.6)000000000000p(t,z,y)0 (26)00000
00000000u, 0 ¢y, 0, 00000000000 u,(2)ue(y) O

O (T) o, (U)5 o, ()0, (1), Un, ()00, (1), U, (2)Yr, (Y)
goood

Ox. (@)or, (W)owt + ox, (@)n, (Y)on® + Un, (2)or, (W) oot + Ua, (2)r, (y)or?
gdodoooddoodddooodooboooonooodgooooad

p(t,z,y) :E:‘f ! (@xn (@), (W)t + @n, (), (y)oy?

Fn, ()22, T2+ U, (@), ()022) (> 0)
gooooooooooood

pte) = [ (oa@hn)ds () + a0

FUA@)PA [)do> () + Ur(@)r (1)do*3(N)) - (t > 0),

000000 {e**(\}4-.0000000000000000000000
00000000000000000000000000000000000
00000000

000000000002000000000000000000000(f,9)
0 L%(I,dm)0000000

[e.e]

f@) = Y {(fon)on @ + (.o ), (@)

n=1

H(fo ) (@)ant + (f, 13,1, (:c)mz{Q}

U000l Fouwrier DO O0DO0ODO0DO0DO0O Fourtier UO0OODOOODO
ggbbobuoobobboooobbobuoooobo

Sf(z—):=lime o f(zx—e)0OO0DODODO
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5. ouoond

000000000 (£+Ae=00000000000000000000
(L+Nu=-f00000000000000000000000000000
~A0 a00000(1.8)0000

(5.1) (@—Lu=f

goobobobobooooonobbbh cbdoggobbbbooooobbo
gooooooobbbboooodgd

w,u, 000000 Lu = ou0 1000000000 Wu,ug)(0) # 00
0000000000000 w,ueO «OO0OODDOO0O0O0ODOMmDC =

Cur(y)ua(z)  (r <y)

00000000 Gule,y) 00000000000CG,(z,y)0 2,y00000
00000000000000000000000000000000000
000000000000000000

0G (2, y) _ 0Ga(z,y)
O0s(x)  la=y—o0 0s(x)  la=y+0

00000000000000000000
00 Gulz,y) 00000000

Gﬁwz/QMMﬂwmw

I

goooooooooofooboo0oOooobooOooOogoobooDoboboooo
googobugob/ggbgooboooboboboobooboon

O00O0Q0O (.)00000OO0oDDODODO000000 fO0ODODDOO0O u
0000000000000 000000000D000 Gu(zr,y)DOODOOOO
g

Gd%w:{&M@W@ (@29

(5.2) =1

u(r) = Gof(z)
00000000000000000

00 51. acCOO00G(z,y)0 Lu=aul 10000 w,u, 0000
000000000000 f(2)0 Gof(x)D00000O0O0O0OODODOO
000000000 g(#) = Gaf(x) 0000000 (5.4)00000

O000(.1) 0000 g(x)00000000000O0DO0OO0O0ODO0O0OO

g9(x) = Gof(x) + crur(x) + coua(z) (1,02 € R)
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00.000000¢g(x)=G.f(x)0000 £g0O0000000000000

ggoboboogobobooob
C=100000000000Cw 000000 OO00ODOO0ODOOD

000 Ga(z,y) 00000

00000000o0oooDO 37)ooooo

doe) = ([ ) f)in@) dun(e) + le)unle) f(a)dm(a)

o/ " w0 W)in() ) dus(e) — o) (o) (a)dm(z)

_ </:_ UQ(y)f(?J)dm(y)> duy () + </j+ m(y)f(y)dm(y))dm(m)

000 Dfg=dtg/ds(x)D 0000
Do) = ([ ) f@im(n)Diu)
([ mswim) pius)

goooo

A(D* g(x)
( / Uz(y)f(wdm(y)) ADFuy(x) + D s ()us(w) f () dm(x)

—L_

i ( / " uy (y) f(y)dm(y)) dDJus(x) — i (x) D uz(x) f(2)dm(x)
([ wtnswint) ) apsu)
([ )@ ) 4t - i)
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000000 Wiu,u]=10000000 Luy = oue(k=1,2) 00000

100 = ([ wlrwan)) ab;ueint)

—L_

Ly
; ( / ul<y>f<y>dm<y>) oD ug(a)dm(z) — f(x)dm(z)
— aglx)dm() — f(@)dm(z)
oo
D, Dfg(x) = ag(x) — f(x)
00000000 Lg=ag— f0000
(a—L)g= T

000000000000000000%u(z):=g(x)-G.f(x)D0D0000
00000000 Lu=oud000000w,uw, 000000000000 wO
aur+cu, 000000 O

0 5.1 (BrownO0O). ¢c>0000 L= (1/e)d?*/d2* 0 I=RO0OD000c=2
000000 BrownOOOODOODO0OO0OO0OO s(z) =x,dn(zx) =cdx0000

Lu=aou (a>0)

0000000000 e Ver Jeveer QODO0000O0O0 2v/eca OO0
oo

1
Galz,y) = e~ Vealz—yl

24/ co
oooooooooooo foO0O0
1
= - —Vealz—y| d C —y/cax C cax
o) = [ o dm(a) + GV 4 Coe

O0(—-—Lju=fO00000000O0O0O0O0OOOOOOC,=Cy,=00000
O000G(z,y) 0 Laplace 00O O0O0O0O

1
t7 :I;, -
p(t,z,y) e

O000Brown0000dm(z)=cde 000000000000 DOO0OOO

o cle—y[/(at)

0000051000000000 g(z),Diglz)000000000

‘0D00000C0000O00O0DO0O0DODOOONOONOONl00000000oond
ooooboooooaoo
‘D00000000000D000000000D0000000
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g(x) =G f(x)0 a,coeCOOODO

(@) + Do) = {aw@) +aDin@) [ w) i

Ly
'+{QUﬂx)+faDiuxwXﬂ/a ur (y) f (y)dm(y)
0000000214, 000 2] 000000

0o 5.2, vy OO0
crur(0y) + coDfuy(04) =0
00000 g=G.f0000000
c19(l4) + 2D g(l4) =0
Uo0oodootlduw 00000 00o
crtg(—0_) + caDfus(—0_) =0
godoogqgoooogo
ag(—-) + 2Dl g(—l-) =0
ogooon

0 5.2(000 BrownO0O). £=(1/2)d?/dz*> 0 I =[0,00) 0000 Odm(x) =
2dz 0000
Lu=au (a>0)

0000000000 uy(z)=e V2020 uy(x) = e V2 4 eV2r 0000w, O
00000000000 w0 Du(0)=0000000000M000000
00000 2v2a00000

1

Gal'7 e
(2,y) = 5 7=
00000ooooooo fo000 (e—Lju=f00000

g(x):Gaf<x)+Clei 20133_'_02(67 2a$+e 2az)

O000¢(0—-)=0000000¢=00000¢0000000000¢=0
gogoooo

(6—\/%|x—y| + e—m(wﬂ/))

(a — L)u(z) = f(x), DFu(0+)=0
0000000000u(z)=Gef(z)0000000
O000Gu(x,y) O Laplace 00O ODOO0O

(e%vwFA%)+e—u+wWQw> (z,y > 0)

t,x,y) =
p(t,z,y) Wore
00000000000000 BrownOOOOdm(z) =24z 00000000

ggooood
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gbsl1bggboogbuogbogboooboogbooboobbonbbo
gbbogbogbbooboobbbdoboobuobuoobooboboobm

K(z,y) = K(A 2, y) = oa(z)a(y) — paly)a(z)
0000000

(5.3) Kf(z) = / " K (,9) 1 () dm(y)
. / U (9)f ) dmly) — a(2) / " or () () dm(y)

gooooon
OO0 5.3. NeCOODOOfOOODOOODOO
—Lu(z) =M+ f(z), u(0)=Dfu(-0)=0
00000 ¢g(z)=Kf(x) 0000000
gd.200000000000o0ooon
—Lu(z) = Mu(z), u(0) = Dfu(-0)=0

000000000 wz)=000000000000000000000000
g(x) = Kf(x)O (A= Lu(z) = f(x) 0000000 G,f0000000
00000000000000 G,f0000000000

Dig(a) = (Df ) /w i)~ (D)) [ erm) 1 w)am(y)

000000000 u(0)=Dfu(-0)=00000000000g(0)=00 (5.3)
DDDDDDDDDDDDDDDDJr ¢g(0)=0000 Dlg(x)DDDOODDOOO
ERERN U

6. 00O Bessel OO

Bessel 0000 [0,00) 00000000000 ODODOO
2 p—-1d

6.1 L=— — >0

(6.1) (dx2+ T das)’ ’

O00000000peROOOOOODO v:=(p/2)—1000000000p
gbooobgob pddOBrown OO0 ODOO0OOO0ODOOOO

W(z)=az""(=2""), 2>0
goon

(@ W@ d) 1 d i\ 4 d
£=3 (@ W %) = oW () dr (W(‘C)%) = dm(z) ds(x)
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00000 (6.1)0 Feller 000 O

dx

- W(a)
0000000000000 s(x)00000dm(x)0000000O0OO

x—QV

dm(z) = 22z, s(z) =< 2 (v #0) , o >0.
logz (v =0)

00000000 BesselDO [(x) (v eR)D00D0O00O0OO00OOOOOOOO
— (z/2)*
I,(x) = 2)
(z) = (2/2) %k!r(wmm
dbdtv=—-1,-2,...00 000000000000 OO0O0OO
I (z)=1(x) (v=12,...)

000000000 “00 10000000 BesselDOK, (z) 0000000
goon

Kz/(x) = m(]—u(‘r) - L,(I))

O00v=-1,-2,...00000000000000000 limeg K,4(z) O
ggbbobuooooboboooooboo
000000 p=10000v=-1/2000

(6.2) I,(z) =/2/(mx)coshz, [I_,(x)=+/2/(7mx)sinhzx.

ogooooooon
K ypp(x) = /7/(2w) e ",
00000000000 BesselUODOOOODODODOOOOOOO
Lu=oau (a>0)
ogoooood
fla) =27 L(2v2a), g(x) =271, (xv2a)

ooooobooboobooooobobobobooboooobobob0 K, 01,1,
ggbbbuooogbbboooobbobuoooobbboooon

uy(z) = 27V (xV2a),  ug(x) = 27V ,(2V20a), us(x) =2 VK, (zv2a)

gobo200boboooonooobo oo L0, 0000000
{u1,u} 00 0000000000000 L(x) 000000

Dfui(0) =0, u(0)=0
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0000000 w(z)000000000000DO0D00O0OOOO%O

[00000000)}(0<p<2—1<wv<0)

DO000m(+0) O s(+0) 0000000000000000000000
00000000000000000000000Bessel 1000000<p <
2:-1<v<00000000000000000000000000000
w(z)000000000 Dfu(0)=00000000 uy(x) 00000000
00000000000 1000000000000000000000000
000000000

Ga(r,y) = wmi(@)us(y) = 27" L(zV20)y " K, (yv20a) (0 <z <y)
0000000000 w(0)=0000000000D0000O00000
=z "1, (xV20)y " K, (yV2a) (0<x<y)

~_ —

Galz,y) = ua(w)us(y
oooo
[D00000000000](p<0;v<—1)

w(z) Dz - +000000000000((—-L)u=f000000000
gooogobobobobbibbwUuwboD00ooooonuooooooooon
gogooobod

[000000000000](p>2;v>0)

up(z)0 z - +000000000000(—-L)u=f0000000000
U0 wUywoobooboogoobobooobbbuooobbboooooboo

[0000000000](p=2v=0)
00000000
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